# **Mojave Basin Area Watermaster**

### **Temporary Transfers 1996-97 Water Year**

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Apple Valley Ranchos Water Company	Apple Valley Development	TempCarryover FPA	215	\$40.00	\$8,600.00	Alto	4/23/1997
Apple Valley Ranchos Water Company	Van Burger, Carl	TempFPA	600	\$40.00	\$24,000.00	Alto	4/23/1997
Apple Valley Ranchos Water Company	Van Burger, Carl	TempCarryover FPA	639	\$40.00	\$25,560.00	Alto	4/23/1997
Dexter, Clair F.	Abbott, Leonard C.	TempCarryover FPA	100	\$0.00	\$0.00	Alto	4/23/1997
Apple Valley Ranchos Water Company	Low, Robert	TempCarryover FPA	360	\$40.00	\$14,400.00	Alto	5/28/1997
Apple Valley Ranchos Water Company	Thrasher, Gary	TempCarryover FPA	100	\$40.00	\$4,000.00	Alto	5/28/1997
Apple Valley View Mutual Water Company	Turner, Zena	TempCarryover in Lieu of Replaceme	nt 12	\$45.00	\$540.00	Alto	5/28/1997
Baldy Mesa Water District	Hrubik, Thomas A.	TempCarryover in Lieu of Replaceme	nt 454	\$50.00	\$22,700.00	Alto	5/28/1997
CDFG - Mojave Narrows Regional Park	Lewis Homes of California	TempCarryover in Lieu of Replaceme	nt 832	\$30.04	\$24,993.28	Alto	5/28/1997
Clear View Farms	Apple Valley Ranchos Water Company	TempCarryover in Lieu of Replaceme	nt 2	\$0.00	\$0.00	Alto	5/28/1997
Hesperia Golf and Country Club	Rancho Las Flores Ltd Partnership	TempCarryover in Lieu of Replaceme	nt 35	\$50.00	\$1,750.00	Alto	5/28/1997
Hesperia Water District	Rancho Las Flores Ltd Partnership	TempCarryover in Lieu of Replaceme	nt 611		\$1.00	Alto	5/28/1997
San Bernardino County Service Area 70J	San Bernardino County Service Area 42	TempCarryover in Lieu of Replaceme	nt 57	\$50.00	\$2,850.00	Alto	5/28/1997
San Bernardino County Service Area 70L	San Bernardino County Service Area 42	TempCarryover in Lieu of Replaceme	nt 200	\$50.00	\$10,000.00	Alto	5/28/1997
San Bernardino County Service Area 70L	San Bernardino County Service Area 64	TempCarryover in Lieu of Replaceme	nt 110	\$50.00	\$5,500.00	Alto	5/28/1997
San Bernardino County Service Area 70L	Silver Lakes Association	TempCarryover in Lieu of Replaceme	nt 86	\$50.00	\$4,300.00	Alto	5/28/1997
Southern California Water Company	Hrubik, Thomas A.	TempCarryover in Lieu of Replaceme	nt 215	\$50.00	\$10,750.00	Alto	5/28/1997
Victor Valley Water District	Bass Trust, Newton T.	TempCarryover in Lieu of Replaceme	nt 441	\$50.00	\$22,050.00	Alto	5/28/1997
Victor Valley Water District	Clark, Kenneth and Barbara	TempCarryover in Lieu of Replaceme	nt 107	\$50.00	\$5,350.00	Alto	5/28/1997
Victor Valley Water District	Cramer, Margret Muir	TempCarryover in Lieu of Replaceme	nt 252	\$50.00	\$12,600.00	Alto	5/28/1997
Victor Valley Water District	Dolch, Robert and Judith	TempCarryover in Lieu of Replaceme	nt 209	\$50.00	\$10,450.00	Alto	5/28/1997
Victor Valley Water District	Hrubik, Thomas A.	TempCarryover in Lieu of Replaceme	nt 1,035	\$50.00	\$51,750.00	Alto	5/28/1997

April 27, 2016 Page 1 of 11

# **Mojave Basin Area Watermaster**

### **Temporary Transfers 1996-97 Water Year**

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Victor Valley Water District	Johnston, Harriet and Lawrence W.	TempCarryover in Lieu of Replaceme	nt 35	\$50.00	\$1,750.00	Alto	5/28/1997
Victor Valley Water District	Kemper Campbell Ranch	TempCarryover in Lieu of Replaceme	nt 132	\$50.00	\$6,600.00	Alto	5/28/1997
Victor Valley Water District	Lake Arrowhead Community Services District	TempCarryover in Lieu of Replaceme	nt 593	\$50.00	\$29,650.00	Alto	5/28/1997
Victor Valley Water District	Lewis Homes of California	TempCarryover in Lieu of Replaceme	nt 692	\$50.00	\$34,600.00	Alto	5/28/1997
Victor Valley Water District	Murphy, Bernard H.	TempCarryover in Lieu of Replaceme	nt 22	\$50.00	\$1,100.00	Alto	5/28/1997
Victor Valley Water District	Silver Lakes Association	TempCarryover in Lieu of Replaceme	nt 500	\$50.00	\$25,000.00	Alto	5/28/1997
Victor Valley Water District	Vail, Joseph B. and Paula E.	TempCarryover in Lieu of Replaceme	nt 113	\$50.00	\$5,650.00	Alto	5/28/1997
Hamilton, et al.	Bastianon, Remo E.	TempCarryover FPA	45	\$25.00	\$1,125.00	Alto	6/25/1997
Apple Valley Ranchos Water Company	Abbott, Leonard C.	TempCarryover FPA	156	\$25.00	\$3,900.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	Boyce, Kenneth and Willa	TempCarryover FPA	94	\$40.00	\$3,760.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	Brown, Bobby G. and Valeria R.	TempCarryover FPA	28	\$25.00	\$700.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	Burns, Annie L.	TempCarryover FPA	147	\$25.00	\$3,675.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	Cunningham, William E. and Gloria M.	TempCarryover FPA	25	\$25.00	\$625.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	Dexter, Justin P.	TempCarryover FPA	459	\$25.00	\$11,475.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	Fisher, Jerome	TempCarryover FPA	570	\$25.00	\$14,250.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	Keel, Al J. and Barbara	TempCarryover FPA	77	\$25.00	\$1,925.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	Lawson, Ernest and Barbara	TempCarryover FPA	8	\$25.00	\$200.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	Lounsbury, Peter J. and Carolyn	TempCarryover FPA	60	\$25.00	\$1,500.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	M. L. J. Corporation	TempCarryover FPA	27	\$25.00	\$675.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	Phenix Properties Ltd.	TempCarryover FPA	587	\$25.00	\$14,675.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	Storm, Randall	TempCarryover FPA	55	\$25.00	\$1,375.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	Tatro, Richard K. and Sandra A.	TempCarryover FPA	195	\$40.00	\$7,800.00	Alto	8/27/1997

April 27, 2016 Page 2 of 11

# **Mojave Basin Area Watermaster**

#### **Temporary Transfers 1996-97 Water Year**

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Apple Valley Ranchos Water Company	Taylor, Allen C Haymaker Ranch	TempCarryover FPA	411	\$25.00	\$10,275.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	Van Leeuwen Family Trust	TempCarryover FPA	62	\$25.00	\$1,550.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	Vogler, Albert H.	TempCarryover FPA	50	\$25.00	\$1,250.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	Vogler, et al.	TempCarryover FPA	109	\$25.00	\$2,725.00	Alto	8/27/1997
Baldy Mesa Water District	Hrubik, Thomas A.	TempCarryover FPA	655	\$35.00	\$22,925.00	Alto	8/27/1997
Baldy Mesa Water District	Son of Caduceus	TempCarryover FPA	800	\$25.00	\$20,000.00	Alto	8/27/1997
Bass Trust, Newton T.	Weber, Dave	TempCarryover FPA	52	\$25.00	\$1,300.00	Alto	8/27/1997
Boyce, Kenneth and Willa	Weber, Dave	TempCarryover FPA	12	\$25.00	\$300.00	Alto	8/27/1997
Boyce, Kenneth and Willa	Weber, Dave	TempFPA	34	\$25.00	\$850.00	Alto	8/27/1997
Hamilton Trust, Don and Ruth M.	Nunn, Donald and Pearl	TempCarryover FPA	50	\$25.00	\$1,250.00	Alto	8/27/1997
Hamilton, et al.	Parker, David E.	TempCarryover FPA	5	\$25.00	\$125.00	Alto	8/27/1997
Hesperia Water District	Rancho Las Flores Ltd Partnership	TempCarryover FPA	2,600		\$1.00	Alto	8/27/1997
Apple Valley Ranchos Water Company	Ormsby, Harry G.	TempCarryover FPA	65	\$25.00	\$1,625.00	Alto	9/24/1997
Hamilton, et al.	Turner, Zena	TempCarryover FPA	45	\$25.00	\$1,125.00	Alto	9/24/1997
Mojave Water Agency	Basura Family Trust	Carryover-FPA Purchase Program	2	\$40.00	\$80.00	Alto	9/24/1997
Mojave Water Agency	Boyce, Kenneth and Willa	FPA-FPA Purchase Program	5	\$40.00	\$200.00	Alto	9/24/1997
Mojave Water Agency	Di Bernardo, John	FPA-FPA Purchase Program	3	\$40.00	\$120.00	Alto	9/24/1997
Mojave Water Agency	Luckey, Manley J.	FPA-FPA Purchase Program	29	\$40.00	\$1,160.00	Alto	9/24/1997
Mojave Water Agency	M. L. J. Corporation	FPA-FPA Purchase Program	14	\$40.00	\$560.00	Alto	9/24/1997
Mojave Water Agency	Rancho Las Flores Ltd Partnership	FPA-FPA Purchase Program	107	\$40.00	\$4,280.00	Alto	9/24/1997
Mojave Water Agency	Rudman, Robert T.	FPA-FPA Purchase Program	16	\$40.00	\$640.00	Alto	9/24/1997
Mojave Water Agency	Son of Caduceus	Carryover-FPA Purchase Program	17	\$40.00	\$680.00	Alto	9/24/1997

April 27, 2016 Page 3 of 11

# **Mojave Basin Area Watermaster**

### **Temporary Transfers 1996-97 Water Year**

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Accepted by Watermaster
Mojave Water Agency	Thompson, Rodger	Carryover-FPA Purchase Program	4	\$40.00	\$160.00	Alto	9/24/1997
Mojave Water Agency	Thrasher, Gary	Carryover-FPA Purchase Program	14	\$40.00	\$560.00	Alto	9/24/1997
		Alto Subtotal (68)	16,453		\$507,895.28		

April 27, 2016 Page 4 of 11

# **Mojave Basin Area Watermaster**

### **Temporary Transfers 1996-97 Water Year**

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Calico Lakes Homeowners Association	Martin, Michael D. and Arlene D.	TempCarryover FPA	15	\$1.00	\$15.00	Baja	4/23/1997
Calico Lakes Homeowners Association	Martin, Micheal D. and Arlene D.	TempCarryover in Lieu of Replacement	nt 25	\$1.00	\$25.00	Baja	4/23/1997
Hutchison, William O.	De Jong, Alan L.	TempCarryover FPA	380	\$0.00	\$0.00	Baja	4/23/1997
Lake Wainani Owners Association	Western Horizon Associates, Inc.	TempCarryover FPA	80	\$30.00	\$2,400.00	Baja	4/23/1997
Lake Wainani Owners Association	Western Horizon Associates, Inc.	TempCarryover in Lieu of Replacement	nt 20	\$30.00	\$600.00	Baja	4/23/1997
O. F. D. L., Inc.	Hosking, John W. and Jean	TempCarryover in Lieu of Replacement	nt 19	\$40.00	\$760.00	Baja	4/23/1997
O. F. D. L., Inc.	Smith, William E.	TempCarryover in Lieu of Replacement	nt 10	\$70.00	\$700.00	Baja	4/23/1997
Southern California Edison Co Agriculture	Southern California Edison Co Industrial	TempCarryover in Lieu of Replacement	nt 577	\$0.00	\$0.00	Baja	4/23/1997
Daggett Community Services District	Cho Brothers Ranch	TempCarryover in Lieu of Replacement	nt 22	\$30.00	\$660.00	Baja	5/28/1997
Daggett Community Services District	Haigh, Whilldyn and Margaret	TempCarryover in Lieu of Replacement	nt 29	\$40.00	\$1,160.00	Baja	5/28/1997
Leshin, Sol	Young, Keith O Desert Turf	TempCarryover FPA	281	\$7.50	\$2,107.50	Baja	5/28/1997
Nu View Development, Inc.	Hutchison, William O.	TempCarryover in Lieu of Replacement	nt 182	\$0.00	\$0.00	Baja	5/28/1997
O. F. D. L., Inc.	Hosking, John W. and Jean	TempCarryover FPA	19	\$40.00	\$760.00	Baja	5/28/1997
San Bernardino Co Barstow-Daggett Airport	De Jong, Alan L.	TempCarryover in Lieu of Replacement	nt 8	\$70.00	\$560.00	Baja	5/28/1997
Silver Valley Ranch, Inc.	Weber, F. R. and Junell	TempCarryover in Lieu of Replacement	nt 10	\$30.00	\$300.00	Baja	5/28/1997
Van Leeuwen, John	Van Diest, Cornelius	TempCarryover in Lieu of Replacement	nt 81	\$70.00	\$5,670.00	Baja	5/28/1997
Harter, Joe and Sue	Morris, Julia	TempCarryover FPA	266	\$7.50	\$1,995.00	Baja	7/23/1997
St. Antony's Orthodox Monastery	Barber, James B.	TempFPA	23	\$25.00	\$575.00	Baja	7/23/1997
St. Antony's Orthodox Monastery	Barber, James B.	TempCarryover FPA	137	\$25.00	\$3,425.00	Baja	7/23/1997
Daggett Community Services District	Haigh, Whilldyn and Margaret	TempFPA	28	\$45.00	\$1,260.00	Baja	8/27/1997
Daggett Community Services District	Price, Donald and Ruth	TempCarryover FPA	38	\$35.00	\$1,330.00	Baja	8/27/1997
Daggett Community Services District	Price, Donald and Ruth	TempFPA	12	\$35.00	\$420.00	Baja	8/27/1997

April 27, 2016 Page 5 of 11

# **Mojave Basin Area Watermaster**

#### **Temporary Transfers 1996-97 Water Year**

Amount of

Date

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Accepted by Watermaster
Lake Jodie Property Owners Association	Weber, F. R. and Junell	TempCarryover FPA	77	\$35.00	\$2,695.00	Baja	8/27/1997
Leshin, Sol	Harter, Joe and Sue	TempCarryover FPA	400	\$0.00	\$0.00	Baja	8/27/1997
Levine, Leslie, Dr.	Harter, Joe and Sue	TempCarryover FPA	270	\$7.50	\$2,025.00	Baja	8/27/1997
Nu View Development, Inc.	Hutchison, William O.	TempCarryover FPA	100	\$0.00	\$0.00	Baja	8/27/1997
Mojave Water Agency	Brown, Ronald A.	Carryover-FPA Purchase Program	53	\$40.00	\$2,120.00	Baja	9/24/1997
Mojave Water Agency	Carter, John Thomas	Carryover-FPA Purchase Program	44	\$40.00	\$1,760.00	Baja	9/24/1997
Mojave Water Agency	Cho Brothers Ranch	FPA-FPA Purchase Program	3	\$40.00	\$120.00	Baja	9/24/1997
Mojave Water Agency	Daljo Corporation	Carryover-FPA Purchase Program	2	\$40.00	\$80.00	Baja	9/24/1997
Mojave Water Agency	Dick Van Dam Dairy	Carryover-FPA Purchase Program	280	\$40.00	\$11,200.00	Baja	9/24/1997
Mojave Water Agency	Evkhanian, James H. and Phyllis	Carryover-FPA Purchase Program	3	\$40.00	\$120.00	Baja	9/24/1997
Mojave Water Agency	Johnson, James R. and Ellen	Carryover-FPA Purchase Program	5	\$40.00	\$200.00	Baja	9/24/1997
Mojave Water Agency	Nu View Development, Inc.	FPA-FPA Purchase Program	100	\$40.00	\$4,000.00	Baja	9/24/1997
Mojave Water Agency	Reeves, Richard	Carryover-FPA Purchase Program	8	\$40.00	\$320.00	Baja	9/24/1997
Mojave Water Agency	Van Diest, Cornelius	Carryover-FPA Purchase Program	35	\$40.00	\$1,400.00	Baja	9/24/1997
Mojave Water Agency	Western Horizon Associates, Inc.	FPA-FPA Purchase Program	28	\$40.00	\$1,120.00	Baja	9/24/1997
San Bernardino Co Barstow-Daggett Airport	Johnson, James R. and Ellen	TempCarryover FPA	35	\$50.00	\$1,750.00	Baja	9/24/1997
		Baja Subtotal (38)	3,705		\$53,632.50		

April 27, 2016 Page 6 of 11

# **Mojave Basin Area Watermaster**

#### **Temporary Transfers 1996-97 Water Year**

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Adelanto, City of	Van Dam, Eldert and Susan	TempFPA in Lieu of Makeup	27	\$30.00	\$810.00	C/A	6/25/1997
Adelanto, City of	Van Dam, Eldert and Susan	TempCarryover in Lieu of Makeup	164	\$30.00	\$4,920.00	C/A	6/25/1997
Apple Valley Country Club	Hills Ranch Inc. (Melvin Hill)	TempCarryover in Lieu of Makeup	33	\$30.00	\$990.00	C/A	6/25/1997
Apple Valley Heights County Water District	Hills Ranch Inc. (Melvin Hill)	TempCarryover in Lieu of Makeup	8	\$30.00	\$240.00	C/A	6/25/1997
Apple Valley Ranchos Water Company	Hills Ranch Inc. (Melvin Hill)	TempCarryover in Lieu of Makeup	79	\$30.00	\$2,370.00	C/A	6/25/1997
Apple Valley Ranchos Water Company	Hills Ranch Inc. (Melvin Hill)	TempCarryover in Lieu of Makeup	829	\$30.00	\$24,870.00	C/A	6/25/1997
Baldy Mesa Water District	Ruisch, Dale W.	TempCarryover in Lieu of Makeup	147	\$30.00	\$4,410.00	C/A	6/25/1997
Dolch, Robert and Judith	Ruisch, Dale W.	TempCarryover in Lieu of Makeup	10	\$30.00	\$300.00	C/A	6/25/1997
Gomez, Cirilo - Living Trust	Ruisch, Dale W.	TempCarryover in Lieu of Makeup	13	\$30.00	\$390.00	C/A	6/25/1997
Hesperia Water District	Hills Ranch Inc. (Melvin Hill)	TempCarryover in Lieu of Makeup	381	\$30.00	\$11,430.00	C/A	6/25/1997
Hesperia Water District	Van Dam, Eldert and Susan	TempCarryover in Lieu of Makeup	381	\$30.00	\$11,430.00	C/A	6/25/1997
Johnson, Larry and Carlean	Ruisch, Dale W.	TempCarryover in Lieu of Makeup	5	\$30.00	\$150.00	C/A	6/25/1997
Lounsbury, Peter and Carolyn	Soppeland, Wayne	TempCarryover in Lieu of Makeup	7	\$30.00	\$210.00	C/A	6/25/1997
Luckey, Manley J.	Ruisch, Dale W.	TempCarryover in Lieu of Makeup	26	\$30.00	\$780.00	C/A	6/25/1997
Ormsby, Harry G.	Ruisch, Dale W.	TempCarryover in Lieu of Makeup	15	\$30.00	\$450.00	C/A	6/25/1997
Parker, David E.	Ruisch, Dale W.	TempCarryover in Lieu of Makeup	2	\$30.00	\$60.00	C/A	6/25/1997
Pettis Family Trust	Ruisch, Dale W.	TempCarryover in Lieu of Makeup	8	\$30.00	\$240.00	C/A	6/25/1997
Rancho Las Flores Ltd. Partnership	Soppeland, Wayne	TempCarryover in Lieu of Makeup	97	\$30.00	\$2,910.00	C/A	6/25/1997
Riverside Cement Company - Oro Grande	Soppeland, Wayne	TempCarryover in Lieu of Makeup	127	\$30.00	\$3,810.00	C/A	6/25/1997
Rudman, Robert T.	Ruisch, Dale W.	TempCarryover in Lieu of Makeup	15	\$30.00	\$450.00	C/A	6/25/1997
San Bernardino County Service Area 42	Soppeland, Wayne	TempCarryover in Lieu of Makeup	10	\$30.00	\$300.00	C/A	6/25/1997
San Bernardino County Service Area 64	Soppeland, Wayne	TempCarryover in Lieu of Makeup	200	\$30.00	\$6,000.00	C/A	6/25/1997

April 27, 2016 Page 7 of 11

# **Mojave Basin Area Watermaster**

#### **Temporary Transfers 1996-97 Water Year**

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
San Bernardino County Service Area 70C	Soppeland, Wayne	TempCarryover in Lieu of Makeup	120	\$30.00	\$3,600.00	C/A	6/25/1997
San Bernardino County Service Area 70J	Soppeland, Wayne	TempCarryover in Lieu of Makeup	52	\$30.00	\$1,560.00	C/A	6/25/1997
San Bernardino County Service Area 70L	Soppeland, Wayne	TempCarryover in Lieu of Makeup	19	\$30.00	\$570.00	C/A	6/25/1997
Silver Lakes Association	Soppeland, Wayne	TempCarryover in Lieu of Makeup	197	\$30.00	\$5,910.00	C/A	6/25/1997
Southdown, Inc.	Soppeland, Wayne	TempCarryover in Lieu of Makeup	79	\$30.00	\$2,370.00	C/A	6/25/1997
Southern California Water Company	Southern California Water Company	TempCarryover in Lieu of Makeup	49	\$0.00	\$0.00	C/A	6/25/1997
Spring Valley Lake Association	Van Dam, Eldert and Susan	TempCarryover in Lieu of Makeup	105	\$30.00	\$3,150.00	C/A	6/25/1997
Tatro, Richard K. and Sandra A.	Ruisch, Dale W.	TempCarryover in Lieu of Makeup	4	\$30.00	\$120.00	C/A	6/25/1997
Thompson, James A.	Ruisch, Dale W.	TempCarryover in Lieu of Makeup	20	\$30.00	\$600.00	C/A	6/25/1997
Thrasher, Gary E.	Hills Ranch Inc. (Melvin Hill)	TempCarryover in Lieu of Makeup	13	\$30.00	\$390.00	C/A	6/25/1997
Thunderbird County Water District	Soppeland, Wayne	TempFPA in Lieu of Makeup	4	\$30.00	\$120.00	C/A	6/25/1997
Thunderbird County Water District	Soppeland, Wayne	TempCarryover in Lieu of Makeup	4	\$30.00	\$120.00	C/A	6/25/1997
Turner, Zena	Ruisch, Dale W.	TempCarryover in Lieu of Makeup	1	\$30.00	\$30.00	C/A	6/25/1997
Van Leeuwen Family Trust	Ruisch, Dale W.	TempCarryover in Lieu of Makeup	9	\$30.00	\$270.00	C/A	6/25/1997
Victor Valley Water District	Brommer, Marvin	TempCarryover in Lieu of Makeup	325	\$35.00	\$11,375.00	C/A	6/25/1997
Victor Valley Water District	Hills Ranch Inc. (Melvin Hill)	TempCarryover in Lieu of Makeup	358	\$35.00	\$12,530.00	C/A	6/25/1997
Vogler, Albert H.	Ruisch, Dale W.	TempCarryover in Lieu of Makeup	2	\$30.00	\$60.00	C/A	6/25/1997
		C/A Subtotal (39)	3,945		\$120,295.00		

April 27, 2016 Page 8 of 11

# **Mojave Basin Area Watermaster**

### **Temporary Transfers 1996-97 Water Year**

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of	Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Accepted by Watermaster
Van Leeuwen, John	Soppeland, Wayne	TempCarryover in Lieu of Replacemen	nt 144	\$30.00	\$4,320.00	Centro	5/28/1997
Ykema Trust	Harmsen, James and Ruthann	TempCarryover in Lieu of Replacemen	nt 95	\$0.00	\$0.00	Centro	5/28/1997
Mojave Water Agency	Contratto, Robert and Ersula	Carryover-FPA Purchase Program	3	\$40.00	\$120.00	Centro	9/24/1997
Mojave Water Agency	Hills Ranch Inc. (Melvin Hill)	Carryover-FPA Purchase Program	6	\$40.00	\$240.00	Centro	9/24/1997
Mojave Water Agency	Van Dam, Eldert and Susan	FPA-FPA Purchase Program	9	\$40.00	\$360.00	Centro	9/24/1997
Mojave Water Agency	Van Vliet, Hendrika	Carryover-FPA Purchase Program	27	\$40.00	\$1,080.00	Centro	9/24/1997
		Centro Subtotal (6)	284		\$6,120.00		

April 27, 2016 Page 9 of 11

# **Mojave Basin Area Watermaster**

### **Temporary Transfers 1996-97 Water Year**

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Accepted by Watermaster
Juniper Riviera County Water District	Frederick Trust, Kenneth A.	TempCarryover in Lieu of Replacemen	nt 20	\$75.00	\$1,500.00	Este	4/23/1997
Lucerne Vista Mutual Water Company	Stringer, W. Edward	TempCarryover in Lieu of Replacemen	nt 3	\$0.00	\$0.00	Este	5/28/1997
San Bernardino County Service Area 29	Wilshire Road Partners	TempCarryover in Lieu of Replacemen	nt 3	\$1.00	\$3.00	Este	5/28/1997
Weiser, Sidney and Raquel	Frederick Trust, Kenneth A.	TempCarryover in Lieu of Replacemen	nt 63	\$25.00	\$1,575.00	Este	5/28/1997
Willow Wells Mutual Water Company	Gaeta, Trinidad	TempCarryover in Lieu of Replacemen	nt 9	\$25.00	\$225.00	Este	5/28/1997
Juniper Riviera County Water District	Frederick Trust, Kenneth A.	TempCarryover FPA	40	\$5.00	\$200.00	Este	8/27/1997
Lucerne Vista Mutual Water Company	Frederick Trust, Kenneth A.	TempCarryover FPA	20	\$5.00	\$100.00	Este	8/27/1997
Reed, Michael A.	Frederick Trust, Kenneth A.	TempCarryover FPA	20	\$5.00	\$100.00	Este	8/27/1997
Stringer, W. Edward	Frederick Trust, Kenneth A.	TempCarryover FPA	200	\$5.00	\$1,000.00	Este	8/27/1997
Stringer, W. Edward	Frederick Trust, Kenneth A.	TempCarryover FPA	100	\$3.00	\$300.00	Este	8/27/1997
Weiser, Sidney and Raquel	Frederick Trust, Kenneth A.	TempCarryover FPA	100	\$5.00	\$500.00	Este	8/27/1997
Willow Wells Mutual Water Company	Frederick Trust, Kenneth A.	TempCarryover FPA	20	\$5.00	\$100.00	Este	8/27/1997
Mojave Water Agency	Club View Partners	FPA-FPA Purchase Program	146	\$40.00	\$5,840.00	Este	9/24/1997
Mojave Water Agency	Dahlquist, George R.	FPA-FPA Purchase Program	23	\$40.00	\$920.00	Este	9/24/1997
Mojave Water Agency	Hert, Scott	Carryover-FPA Purchase Program	14	\$40.00	\$560.00	Este	9/24/1997
Mojave Water Agency	Stringer, W. Edward	Carryover-FPA Purchase Program	30	\$40.00	\$1,200.00	Este	9/24/1997
		Este Subtotal (16)	811		\$14,123.00		
San Bernardino County Service Area 70L	Aerochem, Inc.	TempCarryover in Lieu of Replacemer	nt 594	\$70.00	\$41,580.00	Oeste	5/28/1997
San Bernardino County Service Area 70L	San Bernardino County Service Area 70G	TempCarryover in Lieu of Replacemen	nt 25	\$50.00	\$1,250.00	Oeste	5/28/1997
San Bernardino County Service Area 70L	Van Dam Brothers	TempCarryover in Lieu of Replacemen	nt 321	\$70.00	\$22,470.00	Oeste	5/28/1997
		Oeste Subtotal (3)	940		\$65,300.00		

April 27, 2016 Page 10 of 11

## **Mojave Basin Area Watermaster**

### **Temporary Transfers 1996-97 Water Year**

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Accepted by Watermaster
		<b>Total</b> (170)	26,138		\$767,365.78		

April 27, 2016 Page 11 of 11